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Timed Automata® —




Timed Automata® 4

I int{1.3
maney sum + Corverselm) == 50
insert’?

Calculste(m), money = Converse(m), x =0

it
mongy sum + Conversa{m) > 50 REFUND WAIT

insert? =~
block = true ;&

T
refund money =0

mongy. sum < coffes value

i block =false, x =0

btn s int 1,5
1 <=x &8 x<=10

=) Imp bulton <& g, bulton? 3 [
OFFE :1'?:'."'-.-'.-"*.IT BU r'I'Dw-CHECH'. block = true, tmp_button = bin, x 1= 0 block = true, refund_money = money_sum =i

tmp button == 5
refund_money = monay _sum L J
raflund_monay == 10 BEELNG

¥ :=0 block = false

money_sum >= coffee value
Je=n &b x==5

x=0
W

REFU ND% MPLETE

x==3a

§<=x hbx <= 10
maney sum = maney sum - coffee value, x =0

A

% =0, block = false money sum = 0, refund_money =0, x =0, block = false

OFFER COMPLETE

x<=10
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CvM.BUTTOW_CHECK. —-> CVM. |OLE imply money_sum < coffee_value

CWM. IDLE -+ CVYM.REFUNO_COMPLETE imply CVM.x <= 5 &% refund_money = [

CWM. BUTTOM_CHECK --> C¥M.OFFER_COMPLETE imply money_sum »>= coffee_walue &% CVM.x <= 10
CVYM. [DLE -—» CYM.REFUMD_WAIT imply CVM.x = 10

&[] CYM.REFUWD_COMPLETE imply CWM.x ==k

&[] CWM.OFFER_COMPLETE imply CWH.:= <= 10

E=z> CWM.REFUND_COMPLETE

B« CYM.OFFER_COMPLETE

&[] not (CWM.BUTTON_CHECK and USER.START)

&[] not deadlock




Fail O] 25t Property

o AZF0F 2HEA =l Property SO A fail &2

CYM.BUTTON_CHECK --> CWM. [DLE imply money_sum < coffee_value

CYM. [OLE ——> C¥M.REFUMO_COMPLETE imply CVM.: <= & &8 refund_monew = 0

CYM. BUTTOW_CHECK —-> CY¥M.OFFER_COMPLETE imply money_sum »= coffee_value && CYM.x <= 10

CWM. [OLE ——= CWM.REFUND_WAIT imply CWM.x = 10

2000

Al | LYM, REFUNL_CUMFLETE Tmply LYM, @ <= &
A[] CVM.OFFER_COMPLETE imply CWM.x <= 10

E<» CYM.REFUMD_COMPLETE

E<» CVYM.OFFER_COMPLETE

&[] not (CYM.BUTTOM_CHECK and UISER.START)
&[] not deadlock




maongy

sum < coffes value

I int{1.3
maney sum 4
insert’?

Lorverse|(m) == &l

Calculste(m), money = Converse(m), x =0

e
mongy sum + Conversa{m) > 50 REFUND WAIT

Inserl & -

block =false, x =0

iy
block = true ;&

B PRAOGRESS

bt s int[1,5
1 <=x L& x <= 1l
Y imp bulton <5 g bulton? 10 refund money =10
: o refund ey = U
CFEE g'."'-.".-"ﬁIT BUTTON CHECK black = true, tmp_button =bin, x =0 block = true, refund money = money_sum oA
tmp button == 5 .
refund_money = monay _sum 3 v
raflund_monay == 10 - -
¥ :=0 block = false REFLIND
money _sum >= coffee vaiue
x=0
de=n &K ==5
F%EFUND%MPLETE
|
S<=x&bhx<=10
maney sum = maney sum - coffee value, x =0
A

OFFER @MI” LETE

% =0, block = false

money sum = 0, refund_money =0, x =0, block = false




